Physiology post Quizz 426
1- Hyper aldoesrimea will lead to 
 a-hypogastria

 b-hyperkaclemia 
 c-alkalosis

 d-takycardia
 e-hypotension

2- excess release of ACTH will lead to

 a- ↓ CRH

 b-Atrophy of the adrenal gland

 c-Addison’s disease 

3-ALDOSTERONE REGULATED MAINLY BY:
 a-renin-angeotinsion system
 b-ACTH

4-SECRETION OF INSULIN MEDIATED BY:
 a-opening of Ca channels
 b-closure of Ca channels
 c-opening of Na channels
 d-clouser of Na channels

5-SECRETION OF INSULIN STIMULATED BY:
 a-vagal stimulation
6-If female has excess androgen :
 a- Hypergonadism.
 b- Virilusim ( virilization ).


 7- years boy suffering from androgenital syndrome :
 a- premature puberty . 
 b- infertility.
8-Anti-inflammatory effect of cortisol lead to:
 a- decrease capillary permeability.
 b- enhance fibroblastic activity.
6- activation of insulin cause :-
a. glycolysis

7- glucagon work to :-
a. keep normal blood glucose level
b. high amino acid level
